H. Geometry - Bellwork #34

SAT Practice:

1.  The width of a rectangular dance floor is w feet.  The length of the floor is 6 feet longer than its width.  Which of the following expresses the perimeter, in feet, of the dance floor in terms of w?

A)  

B)  

C)  

D)  
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2.  


















3.  

What is the solution set of the equation above?

A) {-1}

B) {5}

C) {-1, 5}

D) {0, -1, 5}
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8. 
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R——= U

In the figure above, RT = TU. What is
the value of x ?

A) 72

B) 66

C) 64

D) 58
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The sum of —2x2 + x + 31 and 3x2 + 7x — 8 can be
written in the form ax2 + bx + ¢, where a, b, and ¢

are constants. What is the value of a+ b+ ¢ ?
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flx) =x>-9x
glx) =x*-2x-3

Which of the following expressions is equivalent to

)

— forx>3?
(%)

A ——
)x+1

B) x+3
x+1
x(x-3)

C
) x+1

x(x+3)
x+1

D)
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glx)=2x-1
hx) = 1-g(x)

The functions g and h are defined above. What is the
value of h(0) ?

A) -2
B) 0
o 1

D) 2
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x+1=i
x+1

In the equation above, which of the following is a
possible value of x +1 ?

A) 1-V2
B) V2
C 2
D) 4
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Which of the following is a value of x for which the

expression 2_73 is undefined?
x“+3x-10

A) -3

B) -2

Cc) o

D) 2




